SIRAAUS TSP 3lofRiellol Bd UfdreIur ufdug , dcdl
arftieb W3eir 2023-2024

HISTT U1 Wl
ag faoctier usst
| Be X | fy -ifat | w7 1-9a [ quie —- 40
I 8
o Tt UM P IR MR T |
e PALOUYRE I

Ude Uy & fog i uiRas |1
UAS Uy & IR fdbed fed U g | et fawheu o1 wo= SIfvd |
TTAd IR & AU PIs 3 Tl He S |

1. SI § SMYUR SHISAl & T farat 82
How many numbers of base Sl units are there?
(A)5
(B) 10
7
(D)9
2. 1B Iy SRISR gial &
1 light year is equal to :

(A) 9.46 x 10” m
(B) 9.46 x 10" cm
(C)9.46 x 10" m

(D) 9.46 x 10 m

3. o RRI® &1 fardflg 4@ 3

The dimensional formula of Gravitational constant is
(A) [M'L'T?]
(B) [M'L*T]
(OMLT?)

(D) IM'L°T]

4. TH et W1 R TET HRA A6 AfGd $Y I & AU THYAM AT v, 3R S FHE JHT &
foTT THIAM AT v, F Y T g1 T AT T BRI
A person travelling on a straight line moves with a uniform velocity v for some time and
with uniform velocity v, for the next equal time. The average velocity is given by

_ 2171172
(8) vy = 2222
(B) va» = vlzﬂ
(C) Vay = VUU%UZ

_ iy
(D) voy = 22
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5. B0 & YAUTH & MY W, @R fsa grm
(A) SMDHaH
(B) 1dH
(C) LT
(D)g
At the top of the trajectory of the particle, the acceleration is
(A) maximum
(B) minimum
(C) zero
(D) g
6. PIvfig I A HT fa=m foradp sfe™ ©
(A)TTHR TY & WG DI 3R
(B) 3id: AT d! 3R
(C) sTed Bwar I 3R
(D) gui @ 4R BT 3R

The direction of the angular velocity vector is along
(A) tangent to the circular path

(B) the inward radius

(C) the outward radius

(D) the axis of rotation

7. VAW ST UAUUY B :
(A) BTETRSIET
(B) YAy
(C) et @
(D) T
The trajectory of the projectile is a :
(A) Hyperbola
(B) Parabola
(C) Straight line
(D) Circle

8. Q]E_:;r qiROMe ¢4 aTal S{9HE IiGRN &t gAdH W@T%
(A)
(B) I
(B) AR
(D) IR I 3ffereh

Minimum number of unequal vectors which can give zero resultant are :

(A) Two
(B) Three
(C) Four
(D) More than four
9. gHAA H faxmaR ¥ fedl fie R oM arar 9T s

(A) I8 ¥ SR DI 3R A
(B) dg ¥ - &I AR AHH
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(C) 3RIfud s >t e
(D)

The frictional force acting on a body at rest in plane
(A) Normal to the surface upwards

(B) normal to the surface downwards

(C) Along the direction of the applied force

(D) zero

10. 41 SR 5 U1 gooAM g ) fUs R U & §a T ST g1 Il Bob U BT &R0l 2
m/s 28, UK fis &1 @Rl g

Two bodies of masses 4 kg and 5 kg are acted upon by the same force. If the acceleration of lighter body is 2
m/s?, the acceleration of heavier body is
(A) 1 m/s?
(B) 1.2 m/s?
(C) 1.6 m/s?
(D) 1.8 m/s?
11. Tt e &1 SoqwM S SU R A a1 90 3R e # S0 ARUT & U & SRI6R §
(A) TEATHYU STAM
(B) aggd I 19 G|
(C) SHTdRD FHHH
(D) SIS GHHM
The mass of a body which is equal to the ratio of the force acting on a body to the acceleration produced in
the body is

(A) The gravitational mass
(B) The electromagnetic mass
(C) The internal mass

(D) The inertial mass

12. BRI Ugd dgd 3R el &I Wb Tl &1 &
(A) deI
(B) BT
(C)
(D) Hfhay

What is the linear momentum of the gun and bullet before firing:

(A) Large
(B) Small
(C) Zero
(D) Maximum
13. forar ud ufafesar
(A) T B fifs R &1 #3dl §
(B) U &I fa=n & 9HH & #d §
(C) T IR DI I B &
(D) G 3eT-3eT Al R &1 Fvd &
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Action and reaction :
(A) Act on the same body
(B) are equal act in the same direction
(C) Cancel each other
(D) Act on two different bodies
14. 100fHUT ST H Th U 10 Wex F o I RaT 81 S9! 7fas ot & i §
A body of mass 100 kg falls from a height of 10 m. Its increase in kinetic energy is
(A) 9800 J
(B) 1000 J
(C) 5000
(D) 30001

15, Frofafad § @ S9-91 SRRfEM 9a 82

(A) TE@THYU §d

(B) IoFCRLTeT 5

(€) Fewlg 5

(D) INUT &

Which of the following is non-conservative force?
(A) Gravitational Force

(B) Electrostatic Force

(C) Magnetic Force

(D) Force of Friction

16. Uep fUs ORI TR 50 N &1 ¢ TRIRIT T47 §, I 9 & 1Y 60° BT PHI0T S §U 10 Hier B gt W
farenfird faam oram 8 1 5t g7 fobam wan i g
(A) 200 J
(B) 100 J
(©) 300
(D) 250 J
A body, acted upon by a force of 50 N is displaced through a distance 10 meter in a direction
making an angle of 60° with the force. The work done by the force will be
(A) 200 J
(B) 100 J
(C)300J
(D) 250 J
17. T o0 et 30 UeRiH & SR Fufafed # 3 forw Rigid &1 Suah ot 82
(A) SOUHT T TR
(B) STl T TRETTT
(C) XA TIfA 7 TR&or
(D) IO 7T BT TR&T

Which of the following principle is used by a ballet dancer during her performance?
(A) Conservation of mass

(B) Conservation of energy

(C) Conservation of linear momentum

(D) Conservation of angular momentum
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18. forsit fifs &1 wre@ Simguf 39 W AR T&f HraT |
(A) 31&f T et Sififa=ame
(B) %odM o faaRUl ot Upfa
(C) PIvitg 3T
(D) O 1 4
The moment of inertia of a body does not depend upon its:
(A) Different orientation of axis
(B) Nature of distribution of mass
(C) Angular velocity
(D) Axis of rotation

19. Tt fifs R P e a1t wet 3l (e ) bt uff SrgRey
(A) <gHIq
(B) §ct
Q)T
(D) TSt St
Torque acting on a body is the rotational analogue of:
(A) Mass
(B) Force
(C) Velocity
(D) Kinetic energy
20. 'g' &1 019 ol Y 8l AT 82
(A) & &1 1 & RIR HaTg
(B) G2t & 318 AT o SRTER TS
(C) TTERTS gt @t 3meft s & SRR
(D) Yd 3R YT ¥&T & o9 &1 foig

The value of ‘g’ becomes zero at :

(A) The height equal to the radius of earth

(B) The depth equal to half the diameter of the earth
(C) The depth equal to half the radius of the earth
(D) The point in between the pole and the equator

21, e Ryl SHolf sifimad ghfl-
(A) Yl B HI® W
B) YA H HE R
(€) 3FdH
(D) el i

Gravitational potential energy will be maximum at
(A) Surface of earth

(B) centre of earth

(C) Infinity

(D) anywhere

22. TATHR FH&fl H Gedt & IUUE B SMadadid AR 8] Hal 8
(A) IIUE BT GHAH IR
(B) SHDI HET I AT R
(C) el b GoIHM 3R B iR
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(D) SUD! D& B! 3T 7 Al IUUT BT SdHM 3R 7§ W

The time period of an earth satellite in circular orbit is independent of
(a) The mass of satellite

(b) Radius of its orbit

(c) Both the mass and radius of the orbit

(d) Neither the mass of the satellite nor the radius of its orbit

23. T &9 §U AR & Ui SHTS ST TUS TATR Sl o

The elastic energy stored per unit volume in a stretched wire is:
(A) % (Stress/ Y)

(B) % (Stress %/ Y)

(C) % (Stress */ Y %)

(D) % (Stress/ Y ?)

24. 3HTS YR BT AFHA & dR & [T geA aTd JaATaTd Pl Bl oIl §:

The breaking stress for a wire of unit cross-section is called:
(A) Yield point (GRTHd fdig)

(B) Elastic fatigue (UATRS %IT%[)

(C) Tensile strength (H:I:f—ﬂm?ﬁ)

(D) Young’s modulus (?j‘T‘IUTm

25. YTl :
(A) ATUHH Fg4 T G B HH 8 olldt &
(B) AToH ¥ gf & I1Y aR uerd sgar 8
(C) ITIH H HH & 1Y 1) Pt dgat &
(D) AT & §fG & 1Y R Uerd & & growd g

The viscosity of :

(A) Gases decreases with increase in temperature
(B) Liquids increases with increase in temperature
(C) Gases increases with decrease in temperature
(D) Liquids decreases with increase in temperature

26. mﬁﬁﬂh SIS I SW IS Jobdl g1 T T pT 3P 31 PR H e far sy, af Teft
(A) SR Y T2
(B) SR T T&I 5gm
(C) SR el I
(D) T8 Y PIS T8l

Water can rise up to the height h in a capillary tube. If the tube is cut to half its size, the water in the
tube will :

(A) Overflow

(B) Not overflow

(C) Not rise

(D) None of these
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27. 60 x 107> m? 3IUR BIC EAHA BT U MATBR THT 60 kg F HR BT TGRT &l ¢ | TH W fara
ARG
A circular pillar of area of cross-section 60 x 10~ m? supports Weight of 60 kg. What is the pressure
exerted on the pillar:
(A) 9.8 x 10° Nm™
(B) 9.8 x 10* Nm™
(C) 10.8 x 10° Nm™
(D) 10.8 x 10* Nm™

28. S UMt bl 0°C T 4°C b TTH T SITdT 8, Y Ut b1 SR

(A) TEI /AT ©
(B) UCAT &
(C) Jearg

(D) STH A HIS &I

When water is heated from 0°C to 4°C, the volume of water :
(A) Remains the same

(B) Decreases

(C) Increases

(D) None of these

29. XRGe, ST 3R & fIAR & o &1 STd &
Ratio of coefficient of linear, volume and area expansion is :
(A)1:3:2
B)2:1:3
(©2:2:3
(D)3:2:1

30. SN BT YId! (I o SGURTN &1 3R o STl 62
(A) 3MaR® STl
(B) SSAT
(C) ald
(D) ATIHT

The zeroth law of thermodynamics leads to the concept of :
(A) Internal energy

(B) Heat content

(C) Pressure

(D) Temperature

31. Fofafea & @ & 1 fawed AR & g3 &1 quiH oRdl 82

Which of the following option is describe Mayer’s formula?
(A)Cp+Cv=R
(B)Cv-Cp=R
(CO)CvxCp=R
(D)Cp—-Cv=R

32. SN BT yH fgg = mn g

First law of thermodynamics is given by :

(A) dQ =du + pdv
(B) dQ =du x pdv
SIRIIUS 9lfSID 3fofielol ud ufersiur ufyug , il [AiScI Us6l U | (2023-24) Page 7 of 10



(C) dQ = (du + du)p
(D) dQ = pu + dv

33. 3fUp3f HI 3T TS S ©
(A) ATUHH & A & SIHATIUTID
(B) FRU& ATUE & e SFIHATUIAS
(C) TR0 AgHH | WA

(D) TARTE ATUET & B AT

Average kinetic energy of molecules is :

(A) Directly proportional to square root of temperature
(B) Directly proportional to absolute temperature

(C) Independent of absolute temperature

(D) Inversely proportional absolute temperature

34. T T 3G Y &1 TRE TIER P! o
(A) F9 g1 iR Ay aroH R
(8) g Tre 3R 3= duHH W)
(C) I 19 3R Y aroHH R
(D) I T1F 3R I dTTHH W

A gas behaves as on ideal gas at :

(A) Low pressure and low temperature
(B) Low pressure and high temperature
(C) High pressure and low temperature
(D) High pressure and high temperature

35, fRgfiRad & ¥ DI T =M T TR BHID Gl BT Ul SRl g ?

Which of the following function represent a simple harmonic oscillation?

(A) sin ot — cos 2wt
(B) sin ot + sin2 wt
(C) sin ot —sin2 wt
(D) sin ot — cos wt

36. SEER YT I X1 U S [T &l ST 8. d9 Pl PI 3A1dd b1 H........ BT
W I
(B) Bt
(@k:K]
(D) 3TH § PIs Aol

A child swinging on a wing in sitting position stands up. Then the time period of the swing will :
(A) Increase

(B) Decrease

(C) Remain same

(D) None of these

37. T AT 2 km T A1 7 B 1 S9! RUfAS St v 81 3fe R HY 10 km T e oid ot 394
TR fRUfat Sl g
A long spring is stretched by 2 km. Its potential energy is V. If the spring is stretched by 10 Km the potential
energy stored in it will be :
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(A) V/25
(B) V/5
(C)5V
(D) 25V

38. TG T G TR B ge............ g
(A) THATUT Ufdhar
(B) SIS Ufcha
(C) TsTaRke ufgrar
(D) MBI fehar

The phenomenon of sound propagation is air is :
(A) Isothermal process

(B) Adiabatic process

(C) Isobaric process

(D) Isochoric process

39. dt g8 S ® wuw g, fgdia gmifAe SR diR gl Pt smgfal &1 3rurd &

In a stretched string, the frequencies of first harmonic, second
harmonic and third harmonic are in ratio of :

(A)1:3:5 B)1:2:4
1:2:3 (D)1:5:8

40. FofafEad 7 T o I T 319, R SR T4 & A1edd I U1 81 Gball 872
(A) STIR AT N
(B) faggd gre i axil
(C) Tifes
EGHEER

Which of the following waves can be transmitted through solids, liquids and gases ?
(A) Transverse waves

(B) Electromagnetic waves

(C) Mechanical waves

(D) Longitudinal waves
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Answer Key of model set

Physics XI
QNo ANS QNo ANS QNo ANS QNo ANS
1 C 11 D 21 C 31 D
2 D 12 C 22 A 32 A
3 C 13 D 23 B 33 B
4 B 14 A 24 C 34 B
5 D 15 D 25 D 35 D
6 D 16 D 26 B 36 B
7 B 17 D 27 A 37 D
8 B 18 C 28 B 38 B
9 D 19 B 29 A 39 C
10 C 20 B 30 D 40 D
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